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Circulations at different levels
(streamlines and isotachs)
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Low levels
(Gradient-850 hPa) Mid levels (500 hpa) ~ UPPer levels (200 hPa)
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TC Workshop summary questions
Australian ;ernment I\/I I C rOwave
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Match the following images
to these types:

85-91 GHz colour composite

36-37 GHz colour composite

36-37GHz H (horizontally
polarised view)

85-91 GHz H (horizontally
polarised view)
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TC Workshop summary questions
Australian \jernment I\/I IC rOwave
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Generally resolution is higher on the 37 GHz channel than
85-91 GHz channels.

A. True

B. False
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Ascat
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44 What Is the best method to determine
Austr:;;;;:nment th e Ce ntre?
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Vil

Every case Is different: radar, obs etc
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Name the Dvorak
pattern type for each
of these images
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Dvorak
Australian Governmens What is the 24h change?
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If the FT was 5.5 yesterday what would be the MET now?
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TC Workshop summary guestions
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What would be the most appropriate steering wind flow
to use for a 35 knot TC (CS)?

A. 850-500hPa deep layer mean
B. 700hPa
C. 500hPa
D. 850-300hPa deep layer mean
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What is the name for the wobbling or looping motion of
strong tropical cyclones?

Why does this occur?

How does this affect the forecast?
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ity TC Workshop summary questions
Australian :ernment Steerlng fIOW

Bureau of Meteorology

What is the steering flow for a circulation at the following
points using the 500hPa pattern (heights and winds) below?
Which circulation would be moving the fastest moving?
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s What direction would TCs be steered
it 9 atA/B/G D E?
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Fast motion:
low cross track error (area

| warned) o
Higher along track error (timing)
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Slow motion:

high cross track error (area
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low along track error (timing)
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20070303 12 UTC
Frobability that S will pass within 120km radius during the next 120 hours
tracks: black=COFER, green=CTRL, blue=EFS numbers: observed positions at t+..h
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20070306 0 UTC
FProbability that GEORGE will pass within 120km radius during the next 120 hours
tracks: black=0OPER, green=CTHL, blue=EFS numbers: observed positions at t+..h
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20070307 12 UTC
Frobability that GEORGE will pass within 120km radius during the next 120 hours
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TC Workshop summary guestions
Qtwind shear?
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iy TC Workshop summary questions
How can you tell shear in |
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TC Workshop summary guestions
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Which of the following cases would you expect
the MOST rapid development?

A. A small system under low shear.
B. Alarge system under low shear.



Do you think the circulation is developing? "
Not Developing

. Developing

e About the Same
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Thank you from David and Joe
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Joe Courtney David Grant

joe.courtney@bom.gov.au david.grant@bom.gov.au



